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Right Triangle Trigonometry
1) To find a missing side of a right triangle use the ? \‘I%MOYEQ'“ T"}W\
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&, and o are the legsand &, is the hypotenuse.
Find the missing side of each triangle.
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Trigonometry Ratios

6) Trig Ratios can be used to find missing sides and missing angles of _ Y™ \q"f\.)f triangles.
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The following are trig ratios (you need to memorize these): l\ L\ : I
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Find the value of the trig function indicated.
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17) Given any trig value we can construct the triangle and find all other trig values.
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First construct your right triangle and label sides given.
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Next, use pythagorean theorem to solve for the missing side.
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Evalute trig functions using the constructed triangle.
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Find the value of the two remaining trig functions.
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